HFES (W)

1.

T &R EFNE
Which of the following is correct?
A. V3+V5=v8  B.—/(-5)?=5 C.(—V5)?2=5 D./(=5)2=-5

#V3.1 =1.761,,/31 = 5.568, Mv31000
Givenv3.1 = 1.761,4/31 = 5.568, find V31000

A. 176.1 B.556.8 C.1761 D.5568
¥—=0.008 =
A. -0.2 B.-0.02 C.0.02 D.0.2

THIA—X2TTERS5x — 2y = 10895
Which of the following pairs are the solution for equation 5x — 2y = 10

A {x=0 B{x=2 C{x=4 D{x=—2
C =5 =2 y=-5 y=-10

. ZWA$HE RM 1300, IRFLZ RMA0 f7, BARMNBREHREZMN 3 &, PEXRBELZDE?
A and B have a total of RM 1300. If the A give RM RM 40 to B, then the money A has is exactly three times of B. How
much A owned at first?

A. RM 285 B. RM 985 C. RM 1015 D.RM 1260

EMEZy =k —5BiER (-2, 1) , KWEL 5 x M <L,
Given straight liney = kx — 5 passes through point (-2,1), find the intersection point of the straight line on x
-axis.

A (=2,0) B.(—2,0) C.(0,-5) D.(0,5)

THIM—R L ERREA RN =FATE?
Which of the following group can form an exact triangle ?
A. 3cm, 2cm, 6cm B.3cm, 4cm, 7cm C.4cm, 4cm, 4cm D.6cm, 2cm, 10cm

EM=ZAE=ANANLEZE 1 20 3, ENERAAR
Given the ratio of angles in a triangle is 1:2:3, find the largest angle
A. 60° B.70° C.80° D.90°

& a>0, b>0, FHINERR TR ax + by +3 = 0 EIR?
If a>0, b>0, which of the following graph represent ax + by +3 =0 ?

10.

v
\

_%.q%.j.T

7_
\

7EE ™, AD=BD, <ADB=140°, <ACD=68°, 3k<BAC A
From the diagram AD = BD, <ADB=140° <ACD=68° find < BAC
A 72° B.102° C.92° D.112°
C D \ B
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11.

12.

13.

14.

15.

16.

17.

18.

THBB—IZ 3, 4 M 6 AN&RIKARET
Which of the following is a common multiple of 3,4 and 67
A. 18 B.30 C.42 D.48

AVELEMIT A 258 200 2~ B ARFE 423 B RABERT 120 2 BIF T 60 A H /N g, H
RIRAERCD T 1/3 WZEH . SR @th 753N iR FE I 8]

Jessie was driving 200km journey car from city A to city B. If he drove 60km/h for the first 120km and
decreased§ times of the car speed for the rest journey. Find the total time he spent for the whole journey.

A. 2hours B.3 hours C.4 hours D.5 hours
S [ AA 3
1-'_5—3 - 6
375
Calculate 3 — 36
“s5+6

A = B. 2 2 D. 2

16 11 81 9

K 0.74x0.4 Hfl, HIEERHAZ—NBAE
The value of 0.74 x 0.4, correct to one decimal place is
A. 0.2 B.0.3 C.29 D.3

FIF 4 1) Bank K $%5K 8000 435, {7 T AIA S 8400 47, N4 MH, K Bank K YU FE #.A7

Hi
o
Lily had a loan RM 8000 with Bank K and paid the loan up to total RM 8400 for 4 months, find the annual
simple interest charged by Bank K

A. 0.05% B.1.2% C.5% D.15%

& 2(-8+5) -3(7-12)
Calculate 2(-8+5) -3(7-12)
A. -9 B.-15 Cc.9 D.41

fE8r — 3+ (—)ARPEF L MREC
How many terms are there in the algebraic expression 8r — 3 + (—s)
A1 B.2 Cc3 D.4

A X9 ##100a? — 36(b — c)?
Factorize 100a? — 36(b — c)?
A. (10a+ 6b + 6¢)(10a — 6b — 6¢) B. (10a + 6b + 6¢)(10a — 6b + 6¢)

C.(10a + 6b — 6¢)(10a — 6b + 6¢) D. (10a + 6b — 6¢)(10a — 6b — 6¢)

2_
194115 a?-3a+1

2(a—1)2

a’-3a+1

Simplify 212

a’-3a+1 a’-3a+1 2a-1 2a-1
"a?-4a+2 " (a-1)2 "2(a-1) " 2(a-2)
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20.240(5x — 45)% + 10 = 10, Rk x B91&

Given (5x — 45)2 4+ 10 = 10, find the value of x

A.x=-45 B.x=-9 C.x=9 D.x=45

2L AER7x2 —15x+2=0

Solve the equation 7x?> — 15x +2 =0

22.83x% +px + q = OIIfR A x:—45Flle:E Xp5q

3
Ifthe x=-4and x = g are the solutions of 3x% + px + q = 0,find the values of p and q

A. —4,§ B. g —4 C.10,-8 D. -8, 10

23R x Ay BES, -2 <x <2/ -7 <y< -2 Rx - MRKME

Given that x and y are integer, —2 < x < 2 and —7 < y < —2, find the largest value of x — %

Ax B. e D. 2~
4 4 97 49
24l aFmt =Y
Expresst = aT_l as subject of a
A. 2t? B.3t2—1 CAt*+1 D.(2t + 1)
25.40&, PQR I MNQ HEZ, <P=50°, <N=30°, R=x°, 3K x H9{& P
In Diagram, PQR and MINQ are straight lines. <P=50°, <N =30° R=x ° Q
Find the value of x
A. 80° B.85° C.90° D.95° M

26. LT (2x + a)? — 2(2x + a)(2x — a) + (2x — a)?
Simplify 2x + a)? — 2(2x + a)(2x — a) + (2x — a)?

A.0 B.—4ax C.—4x? D.4a?
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27. A ZMRAMTOE, FIEEMFITELAITR?

Which of the following polynomial, can be calculated using completing the square?

A(a+Db)(b—a) B.(p+q)(p—r) Cx+y)(x+y) D.(k—D(k =1

28315 203 x 197
Calculate 203 x 197

A. 39994 B.39991 C.30007 D.30001

29.%x —y =10,x2 + y2 = 140, xy 2 EE
Given x —y = 10,x% + y? = 140, find value of xy

A.50 B.40 C.30 D.20

30.31E (—a?)?
Calculate (—a®)?

A. —a’ B.a’ C.—a® D. a®

31. THIEHAZ
Which of the following is correct?
A.3y?%.y3 =3y° B.5x* — x% = 4x2

C.(2a%®)3: (—ab) = —8a’b D.2m? +2m? =0

N.Ex+Dx -1 =x>4+mx+n, Wm+n=?
Given(x +2)(x—1) =x*+mx +n, findm+n=?

A -1 B.1 C.-2 D.2

33. 38 (x - y)(—y —x)
Calculate (x — y)(—y — x)
A —x? + y? B. —x2 — y? C.x%2+y? D.x2 —y?
34. £23x% — 4x + kREHEx + 18Rk, M k=?
If 23x? — 4x + k can be divided by x + 1, find k =?

A -1 B.1 C.-27 D.27
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35. BFF (x2-13)?

Expand (x* —3)2

A.x?2+6x+9 B.x2—6x+9 C.x*+6x—9 D.x*—6x%2+9
36. L (x +2)° — 2x — 1D*fF, UBEHMAZL?
Simplify (x + 2)? — (2x — 1)?, find the constant
A -3 B.1 C3 D.5
37. T EXEX DB, EHAZ
From the following factorizations, which is correct?
A dx —2x% —2=-2(x—1)?
B.x2—y?—x+y=(@x+y)(x—y—1)
Cl-gx?=2(x+2)(x—2)
D.x =P - -0)=@x-PE-y+Dx-y—-1)
38. AR/ flx* — 1
Factorize x* — 1
A (x2=1D*+1) B. (x + 1)%(x—1)
Cox—Dx+1D2+1) D. (x — 1(x + 1)3
39. AR LI A F B =2 B ZU(HCF) Ax + 27
Which of the following have HCF of x + 2
I.3x +6,x2 + 4 .3x2 —12,x>+x—2
N.x?>—4,x>—x—6 IV.x% 4+ 4x + 4,x> + 3x — 10
ALl B.II, Il C..L,m D.IL, I, IV
40. £2(4x —3)(Bx +4) = ax? + bx +c, W TF|aJEIFH?
If (4x —3)(3x + 4) = ax? + bx + c, which of the following is correct?
A.a=9 B.b=0 C.c=-12 D.a+b+c=8
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/‘-/‘-(3ab )(4Cd2)
41, fp e

(3ab?)(4cd?)
2¢b?

A. 6ab? B. 6ad?

Simplify

43, 1{,%‘”’ a’b

2_ .2
Simplify ab~—a’b
A.-ab B.ab
3’_+2 _3y
a0t ELE -2
Calculate yrz_ 3y
6y 3y
1 24y
A. 3 =

45, Lx HEER, BONRFERX?

C. 3ab?

‘16y3

C.a-b

—5y—4
e

What value of x should be to make the fraction % meaningless?

A.0 B.1

so(4ab?)(4cd?)
46—

(4ab?)(4cd?)
2ch?

A. 8ab? B. 8acd?

Simplify

a7+ 22

5c 10c?
6ab _ 3
S/mp//fyic - FC:Z
A. 2ab B. 2bc

C.2

C.8ad?

C.4ac

D. 3acd?

D.a+b

3y—4

D.3

D. 16ac?

D. 4bc
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ab%—a?b
48 fLE——

ab?-a?b
a-b

Simplify

A.—ab B.ab C.a—b»b D.a+b

49 RH RIS + 3 = 149M%

Solve equationz +3=1

B.-1 D.1

C. 2-1)
3y

<IN

2-2y

51.[0)—2 < x < 8FF JLNEBHRE?

How many integers are there between —2 < x < 8?

A7 B.8 C.9 D.10

52. HaAft4ER, AFA3 - 2a <1z,

What value should a be for inequality 3 — 2a < 1

A2 B.-1 C.0 D.1

53.40586 — 37" < 4, RxB9B/NEHE

If6 — 37x < 4, find the smallest value of x

Al B.2 C3 D.4

548 x Fly HEE, M2<x<6,-1<y<4, K3x-2yfiHTAE

If xand y are integers, 2< x < 6,—1 < y < 4, find the largest value of 3x — 2y

A 12 B.14 C.16 D.18

55.2H4y — 1< -9K1-2y > -3, KyHEESTEE

Given4y —1 < —9and 1 — 2y > =3, find range of y

Ay<?2 B.y<1 Cy<-2

D.y< -1
7
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56.2 A & P(-1,-1)F1 Q(-4,-4), kK PQ F9KE

Given two points P(-1,-1) and Q(-4,-4), find the length of PQ
A.2V2 B. 3v2 C. 42 D. 5v2

57. K FAFEIK A 12em, XS B4 4 15ecm, 3K

Given the length of a rectangle is 12cm, diagonal is 15 cm, find the width of the rectangle.

A. 6cm B.7cm C.8cm D.9¢cm

58. KRR 5 m(512) Z B fVEE &
Find the distance between point (5,12) and the origin

A.13 B.14 C.15 D.16

59.40&, AB=8cm, BC=5cm,3k d
From the diagram, AB=8cm, BC = 5cm, find d

A.3cm B.+/3cm C.2cm D.v2cm
60.70&, AB=1cm, AC=2cm, 3k BC fy4 A
From the diagram, AB =1cm, AC=2cm,find the length of BC B C
A.+/3cm B.v/5cm C.vV6cm D.v/7cm



